DEFENSIVE AND COMPETITIVE BIDDING

LEADS AND SIGNALS

OVERCALLS(STYLE;RESPONSES;1/2LEVEL;REOPENING)

OPENING LEADS STYLE

LEAD IN PARTNER'S SUIT

8-17HCP, 4+Cards

SUIT ATH 4TH

Resp:Cuebid=F1 New suit=NF

NT 4™ 4™

WORLD BRIDGE FEDERATION

CONVENTION
aves CARD

Jump shift=INV Jump Cuebid=4+ FIT, INV+ SUBSEQ | As Above; ATT As Above; ATT CATEGORX: Precision Blue
OTHERS: NEBO: CHINA EVENT: All
LEADS PLAYERS:
DONG-YONGLING ZhU-XIAOYIN
INT OVERCALL(2"®/4™ LIVE;RESPONSES;REOPENING) LEAD VS. SUIT VS NT SYSTEM SUMMARY
A AKX(+); Ax(+); AKJ10(+) AX(+);AKX(X)
nd: " . . . + +
2m 16-18HCP, system on K KQ; AK; KQJ(+); KQx(+) KQ2109(+)/AKJ10(+) GENERAL APPROACH AND STYLE
47 12-15HCP, 2%=STAY, 2 ¢/v=TRF Q QJ; QIx(+); Qx QJ; QIx(+); ; Qx
. + . - N —
JUMP OVERCALLS(STYLE;RESPONSES; UNUSUAL NT) J J10; J10X(+) J10; JLOX(+): AQIX(+) Precision :
10 109x(+);(A/K)J10x(+); 10x | 10x; 109x; (A/K)JI10x(+) Bidding Style: aggressive
1 Suit: Weak 9 9x; 98X(+); H109(+) 98x(+); H109(+) 1NT=13--15HCP, BAL, m6/Siff OK
Unusual 2NT: LOWER 2 suits HI-x HXSX; xXxS; SX; XXSx HXXSX(+); SX; SxX; XSxX 2/1= FG Except rebid=NF
LO-x HXS;HXXXS; xxS; xxxxS(+) | HxS; HxxS(+)

SIGNALS IN ORDER OF PRIORITY

DIRECT AND JUMP CUE BIDS(STYLE;RESPONSES;REOPEN) CARTNER'S LEAD DECLARER'S | DISCARDING
- - SPECIAL BIDS THAY MAY REQUIRE DEFENCE
Michaels 1 | Hi=E SAME SAME
Jump Cue=ASK STOP SUIT | 2 | Hi/lLo=E 2 e=weak in one major
3 | SIP 3NT=Gambling with Solid m7

= = +

VS. NT (VS. STRONG/WEAK; REOPENING: PH) L Hi=E SAME SAME Unusual 2NT= + ¢ 55
NT 2 | Hi/lLo=E Michaels Cue

X=penalty oriented 3 | SIP Jump Cue=ASK STOP

2&=v Ad44+, 2e=v0ra5+ 2M=M5m4, 2NT=& ¢55

SIGNALS(INCLUDING TRUMPS)

1x-(1y)-2z=F1

4" SAME

Trumps: Hi-Low=Interesting in Ruff, Smith Caring vs NT

1%-(1x)-2y=8+ Points

VS. PREEMPTS(DOUBLES; CUE-BIDS; JUMPS;NT BIDS)

DOUBLES

2M=M+m,55+,weak

DBL=T/O, 2NT=16-18HCP, 3NT=To Play, LEB

DBL 4M=0Option, 4NT=2 Suits

TAKEOUT DOUBLE(STYLE; RESPONSES; REOPENING)

VS. ARTIFICIAL STRONG OPENGINGS

MB light with Classic Shape

(1%)-DBL=&, (1%)-1INT=& ¢(54+)

(1%)-P-(1¢)-DBL=+,

SPECIAL,ARTIFICIAL & COMPETITIVE DOUBLES/ REDOUBLES

SPECIAL FORCING PASS SEQUENCES

Neg DBL THRU 4%

1X-(DBL) -XX-(2Y)-P=F1

Resp DBL THRU 34

Max DBL

IMPORTANT NOTES THAT DON'T FIT ELSEWHERE

OVER OPPONENT’S TAKEOUT DOUBLE

Ligntner DBL

Support DBL THRU 2+

RD: 9+HCP, Pen Seeking 1M (X) INT=simple raise2NT=INV.

PSYCHICS: RARE
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1ls * 0 4v ]16+HCP Any 14=0-7HCP, 1v/a/2%/2 ¢=8+HCP, 5+card TRUMP ASK;RANGE ASK;CONT ASK
1INT=8-13/16+HCP BAL[1], 24=14-15HCP BAL[2] TRUMP SUPP ASK
29/NT/3%/¢=8+HCP, 4441, a/%/¢/vSPL[3] 1s-1¢,INT=16-19HCP,2NT=20-21HCP,
le 2 4v  |11-15HCP ,¢ 1+ 1v/a=4+;24=10+HCP, Force to 3¢ checkback; 4SF le-20=NF
INT=7-11HCP,DENY M; 3¢/3M=PRE 1le-1v/a-28=9+cards minors
2NT=12-13HCP, INV ; ;2H/S/ 3%:GF,6+cards
lv/a 5 4¢ ]11-15HCP INT=F.1; 1M-2m=F1. CHECKBACK, 4SF
1M-2NT=BAL, GF 1M-2M-3x=HSGT
1a/v-3%=4v,7-9; 1a/v-36=4+v,10-12;
; SM=PRE,
INT 4¢ |]13-15HCP, BAL 24 :NF Stayman, 2 ¢=GF.stayman,2v /a=NF INT-DBL-RD=SOS
3&/¢=to play; 3v/a=inv
44%=GERBER
2% 5 4¢ J11-15HCP, 6+& or 5+&4M 2+=Relay;2v/a=NF 2&-2¢- 2M=NAT
2NT=INV;3%-3¢/v/a=INV, 2&-24-3v/a=65MAX 28-24-30=40¢
44=RKCB, 4%=Pre, 2%-24-3NT=SOLID SUIT
2 * 0 Weak in one M 2v/a=P/c 3v/a=P/C;3m=F; 2NT= ASK 24-2NT=ASK: 3m=MAX,C=H,D=S 3v/a=
MIN
2v/a 5 5M+5m,weak+ 2NT=ask
2NT 22-24HCP,BAL STAY, TRF,TEXAS,3a=minors
3%/ e 6 5-10HCP, &/¢6+ 4v/a=To Play, 3)$:F1, 4m=Pre HIGH LEVEL BIDDING
3v/a 6 5-10HCP, v/a6+ 4%=F,maybe cuebid; 4v/a=To Play
3NT * Gambling, Solid m7 No side A/K (4th to Play)|**=F/C. 4#=Ask SPL, 5SNT=GSF RKCB 1403, Blackwood Gerber 1403, Cue, 5NT GSF, SPL
Aa/e 7 PRE ANT=RKCB DOP1, DEPO, REPO, Exclusion RKCB
4v/a 7 PRE ANT=RKCB
ANT * % 465+, PRE
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14-1INT=8-13 or 16+ balanced

2&=inquiry
2¢ =
2v/a=
2NT=
3% =
3e =
3v =
3a=

8-10 HCPs, No 4 card major

8-10 HCPs, 4 card

11-13 HCPs, (4-3-3-3); Opener’s 34 ask for the 4 card

11-13 HCPs, & + any other suit; opener’s 3¢ ask for the other suit
11-13HCPs, ¢+v

11-13 HCPs, v+a

11-13HCPs; a+e

1&-24 =14-15 HCPs, balanced

2NT=inquiry

3% = &+ other suit
3¢ =e¢+w
3v=v+a
360 =A+e

1%-29/NT/3%/ =8+ HCPs, (4-4-4-1); =a/%/ ¢ /% singleton respectively
Opener bids next ranking suit to ask for range



